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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2018

Subject Name: Building Services
Subject Code: 2TE06BGS1 Branch: Diploma (Civil)
Semester: 6 Date: 25/04/2018 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)

a) Minimum width of entrance of lift car
A)900 mm  B) 1000 mm C) 700 mm D) 500 mm
b) Which of the following is not a component of belt conveyor system?
A) Feeder B) Hold back C) Landing door D) Drives
c) Quantity of grey water produced by per person in any family is depends on,
A) No. of persons B) Age of persons  C) Lifestyle D) All of above
d) Angle of escalator with the horizontal should not be greater than
A) 30° B) 45° C) 40° D) 60°
e) Which of the following is need of conveyor belt?
A) High strength B) high flexibility ~ C) Small Elongation D) All of

above
f)  What should be the minimum rate of air change per hour?
A)l B) 2 C)3 D) 60
g) Percentage of carbon dioxide should not be greater than ........ in living room

A) 0.05% B) 0.06% C) 0.07% D) 0.01
h) As per building bylaws, If the height of a building is greater than .....there should
be provided minimum one lift.
A) G+2 B) G+4 C) G+3 D) G+5
i) Which of the following system is not used as transport of persons?
A) Lift B) Dumbwaiters C) Escalators D) None
J)  Speed of Dumbwaiters is............
A)05m/s B)1.0m/s C)1.2m/s D) 1.5 m/s

k) Reflection factor for white surface is
A) 70 to 80 % B) 30 to 40% C) 10 to 20% D) 30to 35 %
I)  Which of the following is not a mechanical ventilation system?
A) Exhaust system  B) Supply system C) Ceiling fans D) Wind
action
m) Effective temperature for winter season is taken as,
A) 30°C B) 20°C C)22°C D)18°C
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n) What is the net floor area for dumbwaiter?

A)1.2m2 B) 1.0 m2 C)1.5m2 D) 2.0 m2

Attempt any four questions from Q-2 to Q-8
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Attempt all questions
What are the objectives and uses of Building Services?

Write physical and chemical properties of water.
Attempt all questions
Explain various plumbing system

Write the benefits of rain water harvesting.

Attempt all questions
Explain the types of recharge structure.

List the component of lift and explain any two.

Attempt all questions
List and Explain types of conveyor.
Explain the technical terms related to wiring.

Attempt all questions
What are the characteristic of fire resisting material?

Explain fire resisting properties of common building material.

Attempt all questions
Explain the principle or requirement of good lightning.

Write short note on types of ventilation.

Attempt all questions
Write advantages and disadvantages of green building.
Explain the classification of fixtures
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Attempt the following questions: (14)
[@s2 st2e(l Yagtell ojotcti USAUE........... da B. @
A)900mm B )1000 mm C ) 700 mm D)500 mm
ol Actiniell 520 Ace s RreHall Ues otell? (1)
A) $lsR B) &les Als C) AldoL 6l D) slefal
S8uel URaiRHl ul B gl GaulR d 3 wellal el .i......... uR 1)
AUR AN B,
A) A5l vl B) calsaile(l GHR C) @datddl D) GUASH dHIH
WAzl WeOlE ALSL AL WA ............ WAoolc 5l AU oll &AL (1)
&S Bl
A) 30° B) 45° C) 40° D) 60°
ol Aotttiell............. soAAR Aceo{l %32 B? @)
A) G A5l B) G Y2l C) olloll YAl D) GURell el
sctls €6 sclloll dyrii URddot £2 9 Sl ANSA? @
A)1 B) 2 C)3 D) 60
stolot slAsABsell 2stelldl ...... sl atl? of Al ASA (1)
A)0.05%  B)0.06%  C)0.07%  D)0.01
Uslololl olitlstH Yoo, A (Aol Q... ... sctl auR a2t D)
WHL AL As [Ase uucll e,
A) G+2 B) G+4 C) G+3 D) G+5
ol Aottiell 58 uglQ AEAA URdset 33 GuotHl Aatdl «1ll? (1)
A) @Qse B) Dumbwaiters C) AWBAA D) o8l
swdserell oA ... ) (1)
A)05m/s B)1.0m/s C)1.2m/s D) 1.5 m/s
a¥e quwdl W yQdo uRaa............... ) (1)
A) 70 t0 80 % B) 30 t0 40% C) 10 to 20% D) 30 to 35 %
{lAe] 53 2Bs ARAAA RizeH o2l (1)
A) AsAe ReH B) At Rex ¢) Aol ¥ot D) (Aos Aot
................ AlUMlet A Qautg Rasel HIZ AUUSIRS dlUHlet A3 Aauni (1)
ud B,
A) 30°C B) 20°C C)22°C D)18°C
groldgeRell Auul Hineg At 9 82
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A)1.2m2 B) 1.0 m2 C)1.5m2 D) 2.0 m2

Attempt any four questions from Q-2 to Q-8
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Attempt all questions
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Attempt all questions
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Attempt all questions
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Attempt all questions
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Attempt all questions
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